

City of Palm Desert

PW - Operations & Maintenance

Randy Chavez, Deputy Director 73-510 Fred Waring Drive, Palm Desert, CA 92260

[SUPERB ENGINEERING, INC.] RESPONSE DOCUMENT REPORT

IFB No. 2024-IFB-121

Desert Willow Perimeter Landscape and Lighting Rehabilitation Phase 3 Project

RESPONSE DEADLINE: July 22, 2024 at 2:00 pm Report Generated: Wednesday, July 24, 2024

Superb Engineering, Inc. Response

CONTACT INFORMATION

Company:

Superb Engineering, Inc.

Email:

estela@superb-engineering.com

Contact:

Estela Candelario

Address:

2947 W. Lincoln St., Ste. 105 Banning, CA 92220

Phone:

(909) 269-2333

Website:

https://www.superb-engineering.com/

Submission Date:

Jul 22, 2024 1:53 PM

ADDENDA CONFIRMATION

Addendum #1

Confirmed Jul 22, 2024 9:21 AM by Estela Candelario

Addendum #2

Confirmed Jul 22, 2024 9:21 AM by Estela Candelario

Addendum #3

Confirmed Jul 22, 2024 9:21 AM by Estela Candelario

Addendum #4

Confirmed Jul 22, 2024 9:21 AM by Estela Candelario

Addendum #5

Confirmed Jul 22, 2024 9:21 AM by Estela Candelario

QUESTIONNAIRE

1. BID ACKNOWLEDGMENT*

To the City of Palm Desert, a municipal corporation, organized under the laws of the State of California, with its principal place of business at 73-510 Fred Waring Drive, Palm Desert, California 92260.

- A. In response to the Contract Documents for project number 2024-IFB-121 and in accordance with the accompanying Instructions to Bidders, the undersigned hereby proposes to the City to furnish all labor, technical and professional services, supervision, materials and equipment, other than materials and equipment specified as furnished by the City, and to perform all operations necessary and required to construct the Project in accordance with the provisions of the Contract Documents and any addenda thereto, and at the prices stated opposite the respective items set forth in the Bid Schedule.
- B. This Bid constitutes a firm offer to the City which cannot be withdrawn for 90 calendar days after the date set for opening of Bids, or until a Contract is executed by the City and a third party, whichever is earlier.

- C. The undersigned certifies that it has examined and is fully familiar with all of the provisions of the Contract Documents and any addenda thereto; that it has carefully checked all of the words and figures shown in its Bid Schedule; that it has carefully reviewed the accuracy of all statements in this Bid and attachments hereto; and that it understands and agrees that the City will not be responsible for any errors or omissions on the part of the undersigned in preparing this Bid.
- D. If awarded a Contract, the undersigned agrees to execute and deliver to the City within ten (10) Days after date of receipt of Notice of Award, a signed Contract and the necessary Performance Bond, Payment Bond, and Certificates of Insurance and Endorsements.
- E. All Bid Forms, which have been completed and executed by undersigned Bidder, are incorporated by this reference and made a part of this Bid.
- F. The undersigned is hereby representing that it is and will be properly licensed both at the time that it submits a Bid as well as at the time the Contract is awarded, if the Contract is awarded to the undersigned.
 - 1. <u>If Individual Contractor</u>. Undersigned certifies that it is now licensed in accordance with the provisions of the Contractor's License Law of the State of California; or
 - 2. <u>If Joint Venture</u>. Undersigned certifies that the individual members of the joint venture are now licensed in accordance with the provisions of the Contractor's License Law of the State of California.

I hereby certify under penalty of perjury under the laws of the State of California that all of the information submitted in connection with this Bid and all of the representations made herein are true and correct.

Confirmed

2. BID SCHEDULE*

IMPORTANT:

THE ELECTRONIC #BID SCHEDULE MUST BE COMPLETED BY EACH BIDDER AND PROPERLY SUBMITTED ON OPENGOV PROCUREMENT.

FAILURE TO COMPLETE THE BID SCHEDULE WILL RESULT IN AN INCOMPLETE AND NON-RESPONSIVE BID.

THE ELECTRONIC BID SCHEDULE WILL BE INCORPORATED INTO THE CONTRACT DOCUMENTS.

The costs for any Work shown or required in the Contract Documents, but not specifically identified as a line item are to be included in the related line items and no additional compensation shall be due to Contractor for the performance of the Work. All blank spaces appearing in the Electronic Bid Schedule must be filled in. Failure to fill in any blank spaces may render the bid non-responsive.

The estimated quantities for Unit Price items are for purposes of comparing Bids only and the City makes no representation that the actual quantities of work performed will not vary from the estimates. Final payment shall be determined by the Engineer from measured quantities of work performed based upon the Unit Price.

If the Contract Documents specify Alternate Bid items, the City can choose to include any, all, or none of the Alternate Bid items in the Work. If the City selects any of the Alternate Bid items, the corresponding Alternate Bid prices shall be added to or deducted from Base Bid Price for the Work. The City can award/select Alternate Bid items at any time(s).

I certify that I have read, understood the above statement.

Confirmed

3. BID GUARANTEE*

<u>IF SUBMITTING AN ORIGINAL BID BOND:</u> Please download the Bid Bond Form under <u>#ATTACHMENTS</u>, and <u>Mail or hand deliver in a sealed and labeled envelope</u> including the Project Number, Project Title, and Project Due Date visible on the outside of the envelope to the City Clerk's Office located at 73-510 Fred Waring Drive, Palm Desert, CA 92260 before the bid submittal deadline.

<u>IF SUBMITTING CASH OR CASHIER'S CHECK:</u> Mail or hand deliver in a sealed and labeled envelope including the Project Number, Project Title, and Project Due Date visible on the outside of the envelope to the City Clerk's Office located at 73-510 Fred Waring Drive, Palm Desert, CA 92260 before the bid submittal deadline.

IF SUBMITTING AN E-BID BOND: follow E-Bid Bond instructions.

E-Bid Bond via Surety2000 (submitted electronically under E-Bid Bond)

4. E-Bid Bond

Please enter your Bid Bond information from Surety2000 below ONLY IF YOU ARE **NOT** SUBMITTING A HARD COPY BID BOND, CASH, OR CASHIER'S CHECK.

Bond ID: SCA0722717037

Vendor ID: 93-3318797

5. Enter Surety Company "Name" who Issued Bid Guarantee *

This information will be verified against the California Department of Insurance Website.

United Fire & Casualty Company

Click to Verify Value will be copied to clipboard

6. DESIGNATION OF SUBCONTRACTORS*

Please download the below documents, complete, and upload.

• DESIGNATION OF SUBCONTRACTO...

DESIGNATION OF SUBCONTRACTORS 7-22-24.pdf

BIDDER INFORMATION AND EXPERIENCE FORM*

Please download the below documents, complete, and upload.

• BIDDER INFORMATION AND EXPE...

BIDDER_INFORMATION_AND_EXPERIENCE_FORM.pdf

8. NON-COLLUSION DECLARATION*

The undersigned declares:

I am an authorized representative of my company, the party making the foregoing Bid, to certify the following.

The Bid is not made in the interest of, or on behalf of, any undisclosed person, partnership, company, association, or corporation. The Bid is genuine and not collusive or sham. The Bidder has not directly or indirectly induced or solicited any other Bidder to put in a false or sham bid. The Bidder has not directly or indirectly colluded, conspired, connived, or agreed with any Bidder or anyone else to put in a sham bid, or to refrain from bidding. The Bidder has not in any manner, directly or indirectly, sought by agreement, communication, or conference with anyone to fix the Bid Price of the Bidder or any other Bidder, or to fix any overhead, profit, or cost

element of the Bid Price, or of that of any other Bidder. All statements contained in the Bid are true. The Bidder has not, directly or indirectly, submitted his or her Bid Price or any breakdown thereof, or the contents thereof, or divulged information or data relative thereto, to any corporation, partnership, company, association, organization, bid depository, or to any member or agent thereof to effectuate a collusive or sham bid, and has not paid, and will not pay, any person or entity for such purpose.

Any person executing this declaration on behalf of a Bidder that is a corporation, partnership, joint venture, limited liability company, limited liability partnership, or any other entity, hereby represents that he or she has full power to execute, and does execute, this declaration on behalf of the Bidder.

I declare under penalty of perjury under the laws of the State of California that the foregoing is true and correct.

Confirmed

9. PUBLIC WORKS CONTRACTOR DIR REGISTRATION CERTIFICATION*

Pursuant to Labor Code sections 1725.5 and 1771.1, all contractors and subcontractors that wish to bid on, be listed in a bid proposal, or enter into a contract to perform public work must be registered with the Department of Industrial Relations. See http://www.dir.ca.gov/Public-Works/Public-Works.html for additional information.

No bid will be accepted, nor any contract entered into without proof of the contractor's and subcontractors' current registration with the Department of Industrial Relations to perform public work.

Bidder hereby certifies that it is aware of the registration requirements set forth in Labor Code sections 1725.5 and 1771.1 and is currently registered as a contractor with the Department of Industrial Relations.

Unless Bidder is exempt pursuant to the small project exemption, Bidder further acknowledges:

- A. Bidder shall maintain a current DIR registration for the duration of the project.
- B. Bidder shall include the requirements of Labor Code sections 1725.5 and 1771.1 in its contract with subcontractors and ensure that all subcontractors are registered at the time of bid opening and maintain registration status for the duration of the project.
- C. Failure to submit this form or comply with any of the above requirements may result in a finding that the bid is non-responsive.

Confirmed

Desert Willow Perimeter Landscape and Lighting Rehabilitation Phase 3 Project

10. Enter your California Department of Industrial Relations (DIR) Registration number*

Please enter your Public Works Contractor DIR Number. This will be verified against the state database.

1001102935

Click to Verify Value will be copied to clipboard

11. Enter your valid CA Contractors State License Board (CSLB) number*

Please enter your License Number here. This will be verified against the state database.

1074243

Click to Verify Value will be copied to clipboard

12. CONTRACTOR'S CERTIFICATE REGARDING WORKERS' COMPENSATION*

I am aware of the provisions of section 3700 of the Labor Code which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this Contract.

Confirmed

13. Fleet Compliance Certification*

I hereby acknowledge that I have reviewed the California Air Resources Board's policies, rules and regulations and are familiar with the requirements of Title 13, California Code of Regulations, Division 3, Chapter 9, effective on January 1, 2024 (the "Regulation"). I hereby certify, subject to penalty for perjury, that the option checked below relating to the Bidder's fleet, and/or that of their subcontractor(s) ("Fleet") is true and correct:

Bidder and/or their subcontractor is unable to procure R99 or R100 renewable diesel fuel as defined in the Regulation pursuant to section 2449.1(f)(3). Bidder shall keep detailed records describing the normal refueling methods, their attempts to procure renewable diesel fuel and proof that shows they were not able to procure renewable diesel (i.e. third party correspondence or vendor bids).

14. Fleet Compliance Documentation*

Please attach supporting documentation for the selection made in the above item.

Desert Willow Perimeter Landscape and Lighting Rehabilitation Phase 3 Project

Document1.pdf

15. Type of Business*

S Corporation (if corporation, two signatures are required)

16. Type your Legal Company Name Here*

State your Company's Name Here. This will be verified against the California Secretary of State's Website.

Estela Candelario

Click to Verify Value will be copied to clipboard

17. How many years has Bidder's organization been in business as a Contractor? *

1 year

18. List the Signatory(s) Authorized to Sign and Bind an Agreement.*

(If two (2) signatures are required, include the following information for both signatories)

- A. Full Name
- B. Title
- C. Physical Business Address
- D. Email Address
- E. Phone Number

Estela Candelario

President

2947 Lincoln St. Unit 105 Banning, CA 92220

estela@superb-engineering.com

Desert Willow Perimeter Landscape and Lighting Rehabilitation Phase 3 Project

(909) 269-2333

Estela Candelario

President

2947 Lincoln St. Unit 105 Banning, CA 92220

estela@superb-engineering.com

(909) 269-2333

19. Nondiscrimination Certification*

The City of Palm Desert is committed to promoting equal opportunity in its contracting activities. We ensure that all individuals seeking to do business with the city treat contractors, subcontractors, and employees fairly, without discrimination based on race, color, religion, ancestry, national origin, disability, medical condition, marital status, domestic partner status, sex, gender, gender identity, gender expression, sexual orientation, or membership in any other protected class.

For any purchase exceeding \$10,000, vendors must certify compliance with the City's nondiscrimination policy (G.C. 3.30.200) before contract award. No contract will be awarded until the contractor submits this certification.

By clicking the confirmation box below, the vendor certifies that they have read the code and agree to comply with its requirements. Failure to comply may result in termination of any agreement entered into with the vendor.

Confirmed

PRICE TABLES

COOK & MARKET BID SCHEDULE

Irrigation, Landscape, and Material Costs. Line items to include Labor, Material, and Equipment needed to complete the task

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Mobilization	1	Lump Sum	\$22,297.36	\$22,297.36
2	Traffic Control	1	Lump Sum	\$22,371.31	\$22,371.31
3	Clearing and Grubbing, includes protecting existing trees, palms, shrubs, and cacti as outlined in the Plans	1	Lump Sum	\$7,723.52	\$7,723.52
4	Landscape Grading Adjustments	1	Lump Sum	\$70,992.65	\$70,992.65
5	Relocate Existing Boulders (4-4' dia, 16-3' dia, 56-2' dia)	1	Lump Sum	\$6,499.46	\$6,499.46
6	Relocate existing Crushed Stone (Remove, clean, and relocate as shown on Plans. Size: 3"-12" Diameter, +/- 1,360 square feet)	1,360	Square feet	\$2.58	\$3,508.80
7	Decomposed Granite ('Desert Gold' or approved equal. Size: 3/8" minus, 40,850 square feet +/-)	40,850	Square Feet	\$1.14	\$46,569.00
8	Rubble ('Hickory Creek' or approved Equal. Size 4" - 6" diameter. 4,850 square feet +/-)		Square Feet	\$2.69	\$13,046.50
9	Crushed Rock ('Apache Sunset' or approved equal. Size: 2" - 4" Diameter. 15,600 square feet +/-)	15,600	Square Feet	\$2.04	\$31,824.00
10	Crushed Rock ('Apache Sunset' or approved equal. Size: 3/4" Diameter. 450 square 450 Square Feet \$5.54 feet +/-)		\$5.54	\$2,493.00	
11	Irrigation System Installation	1	Lump Sum	\$58,893.96	\$58,893.96
12	Separate Irrigation Controller for Future Tie-in: Rainbird 24+ station min., pedestal (independent of Cook St & Market Place irrigation system)		Each	\$674.62	\$674.62
13	Brahea armata (Mexican Blue Palm) (24" Box)	19	Each	\$576.62	\$10,955.78

[SUPERB ENGINEERING, INC.] RESPONSE DOCUMENT REPORT
PUBLIC WORKS - Desert Willow Perimeter Landscape and Lighting Rehabilitation Phase 3 Project

Page 10

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
14	Lysiloma microphylla Feather Tree) (24" Box, multi trunk)	1	Each	\$535.03	\$535.03
15	Chilopsis linearis (Desert Willow - LOW 0.2) (24" Box, multi trunk)	8	Each	\$474.19	\$3,793.52
16	Bougainvillea 'Oo-la-la' (Oo-La-La Bougainvillea - Mod 0.5) (5 gallon)	51	Each	\$21.65	\$1,104.15
17	Calliandra eriophylla (Pink Fairy Duster - LOW 0.2) (5 Gallon)	23	Each	\$26.23	\$603.29
18	Leucophyllum zygophyllum 'Cimarron' (Cimarron Texas Ranger - LOW 0.2) (5 Gallon)	4	Each	\$29.77	\$119.08
19	Lantana montevidensis (Purple Lantana - Mod 0.5) (5 Gallon)		Each	\$19.03	\$647.02
20	Asclepias subulata (Desert Milkweed - LOW 0.2) (5 Gallon)		Each	\$37.48	\$1,461.72
21	Dasylirion acrotrichum (Green Desert Spoon - LOW 0.2) (5 Gallon)		Each	\$24.27	\$606.75
22	Dasylirion longissimum (Mexican Grass Tree - LOW 0.2) (5 Gallon)	51	Each	\$27.54	\$1,404.54
23	Ferocactus acanthodes (Compass Barrel Cactus - LOW 0.2) (10" minimum Diameter)	16	Each	\$54.39	\$870.24
24	Yucca pallida (Pale-leaf Yucca - LOW 0.2) (5 Gallon)	53	Each	\$42.63	\$2,259.39
25	Yucca elata (Soaptree Yucca - LOW 0.2) (15 Gallon)	36	Each	\$147.80	\$5,320.80
26	Muhlenbergia capillaris 'Regal Mist' (Pink Muhly - Mod 0.5) (5 Gallon)	94	Each	\$20.99	\$1,973.06
27	Nolina microcarpa (Beargrass - LOW 0.2) (5 Gallon)		Each	\$29.77	\$267.93
28	Calliandra inadequilatera (Pink Powder Puff - Mod 0.5) (5 Gallon)	16	Each	\$126.63	\$2,026.08
29	Pyrostegia venusta (Flame Vine - Mod 0.5) (5 Gallon)	24	Each	\$126.63	\$3,039.12

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
30	Exterior Bollard Lighting Fixture (NLS Lighting #SSD-4-8R-COG45-16-7-50K-UNV-AB-BRZ-VRB-PC)	24	Each	\$1,617.82	\$38,827.68
31	Maintenance and Plant Establishment	1	Lump Sum	\$8,304.11	\$8,304.11
32	Sand and repaint existing wrought iron fence. Paint is Dunn Edwards "Acorn" exterior.		Lump Sum	\$7,366.29	\$7,366.29
33	Electrical / Lighting Installation to include all conduit, lighting cable, junction boxes, and connections to existing pedestals, timers (Intermatic T101R), etc. and constant power to new irrigation controllers.		Lump Sum	\$60,363.00	\$60,363.00
34	Include \$10,000 contingency for Additional Planting, Irrigation or Inert Material, etc. 1 Lump Sum \$10,000.0		\$10,000.00	\$10,000.00	
TOTAL					\$448,742.76

FRANK SINATRA DRIVE BID SCHEDULE

Irrigation, Landscape, and Material Costs. Line items to include Labor, Material, and Equipment needed to complete the task

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
32	Mobilization	1	Lump Sum	\$22,297.36	\$22,297.36
33	Traffic Control	1	Lump Sum	\$22,371.31	\$22,371.31
34	Clearing and Grubbing, includes protecting existing trees, palms, shrubs, and cacti as outlined in the Plans		Lump Sum	\$10,539.23	\$10,539.23
35	Landscape Grading Adjustments	1	Lump Sum	\$91,850.71	\$91,850.71

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
36	Relocate Existing Boulders (11-4' dia, 38-3' dia, 77-2' dia)	1	Lump Sum	\$10,817.69	\$10,817.69
37	Relocate existing Crushed Stone (Remove, clean, and relocate as shown on Plans. Size: 3"-12" Diameter, +/- 4,190 square feet)	4,190	Square feet	\$2.45	\$10,265.50
38	Decomposed Granite ('Desert Gold' or approved equal. Size: 3/8" minus, 52,450 square feet +/-)	52,450	Square Feet	\$1.14	\$59,793.00
39	Rubble ('Hickory Creek' or approved Equal. Size 4" - 6" diameter. 10,050 square feet +/-)	10,050	Square Feet	\$2.49	\$25,024.50
40	Crushed Rock ('Apache Sunset' or approved equal. Size: 2" - 4" Diameter. 25,350 square feet +/-)		Square Feet	\$2.05	\$51,967.50
41	Crushed Rock ('Apache Sunset' or approved equal. Size: 3/4" Diameter. 1,300 square feet +/-)		Square Feet	\$3.17	\$4,121.00
42	Irrigation System Installation	1	Lump Sum	\$72,896.95	\$72,896.95
43	Brahea armata (Mexican Blue Palm) (24" Box)	29	Each	\$570.70	\$16,550.30
44	Chilopsis linearis (Desert Willow - LOW 0.2) (24" Box, multi trunk)	2	Each	\$468.60	\$937.20
45	Bougainvillea 'Oo-la-la' (Oo-La-La Bougainvillea - Mod 0.5) (5 gallon)	86	Each	\$21.65	\$1,861.90
46	Calliandra eriophylla (Pink Fairy Duster - LOW 0.2) (5 Gallon)	23	Each	\$26.23	\$603.29
47	Leucophyllum zygophyllum 'Cimarron' (Cimarron Texas Ranger - LOW 0.2) (5 Gallon)	5	Each	\$29.77	\$148.85
48	Lantana montevidensis (Purple Lantana - Mod 0.5) (5 Gallon)	74	Each	\$19.03	\$1,408.22
49	Asclepias subulata (Desert Milkweed - LOW 0.2) (5 Gallon)	47	Each	\$37.48	\$1,761.56

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
50	Dasylirion acrotrichum (Green Desert Spoon - LOW 0.2) (5 Gallon)	22	Each	\$24.27	\$533.94
51	Dasylirion longissimum (Mexican Grass Tree - LOW 0.2) (5 Gallon)	58	Each	\$27.54	\$1,597.32
52	Ferocactus acanthodes (Compass Barrel Cactus - LOW 0.2) (10" minimum Diameter)	28	Each	\$54.39	\$1,522.92
53	Yucca pallida (Pale-leaf Yucca - LOW 0.2) (5 Gallon)	84	Each	\$42.63	\$3,580.92
54	Yucca elata (Soaptree Yucca - LOW 0.2) (15 Gallon)	50	Each	\$147.80	\$7,390.00
55	Muhlenbergia capillaris 'Regal Mist' (Pink Muhly - Mod 0.5) (5 Gallon)		Each	\$20.99	\$2,623.75
56	Nolina microcarpa (Beargrass - LOW 0.2) (5 Gallon)		Each	\$29.77	\$684.71
57	Exterior Bollard Lighting Fixture (NLS Lighting #SSD-4-8R-COG45-16-7-50K-UNV-AB-BRZ-VRB-PC)		Each	\$1,617.82	\$71,184.08
58	Accent Landscape Lighting Fixture (KIM Lighting #EL218-W-5-8L-3K-UV-DB-BD215DB	/-5-8L-3K-UV-DB- 2 Each \$1,356		\$1,356.68	\$2,713.36
59	Maintenance and Plant Establishment	1	Lump Sum	\$10,662.20	\$10,662.20
60	Electrical / Lighting Installation to include all conduit, lighting cable, junction boxes, and connections to existing pedestals, timers (Intermatic T101R), etc. and constant power to new irrigation controllers.		Lump Sum	\$65,076.00	\$65,076.00
61	Include \$10,000 contingency for Additional Planting, Irrigation or Inert Material, etc.	1	Lump Sum	\$10,000.00	\$10,000.00
TOTAL			1		\$582,785.27

DESIGNATION OF SUBCONTRACTORS

The subcontractor(s) listed below will perform work or labor or render service to the contractor in or about the construction of the work or improvement, or are subcontractors licensed by the State of California who will, under subcontract to the contractor, specially fabricate and install a portion of the work or improvement according to detailed drawings contained in the Contract Documents, in an amount in excess of one-half of one percent (0.5%) of the contractor's total bid. Notwithstanding the foregoing, if the work involves the construction of streets and highways, then the Bidder shall list each subcontractor who will perform work or labor or render service to the Bidder in or about the work in an amount in excess of one-half of one percent (0.5%) of the Bidder's Total Bid Price or \$10,000, whichever is greater. No additional time shall be granted to provide the below requested information.

In compliance with the Subletting and Subcontracting Fair Practices Act Chapter 4 (commencing at Section 4100), Part 1, Division 2 of the California Public Contract Code, the Bidder shall set forth below:

- (a) The portion of the work to be done by the subcontractor;
- (b) The name and the location of the place of business;
- (c) The California contractor license number; and
- (d) The DIR public works contractor registration number.

If a Bidder fails to specify a subcontractor or if a Bidder specifies more than one subcontractor for the same portion of work, then the Bidder shall be deemed to have agreed that it is fully qualified to perform that portion of work and that it shall perform that portion itself.

Portion of Work to be done by Subcontractor	Percent of Total Base Bid	Name of Subcontractor	Location of Business	CSLB Contractor License No.	DIR Registration Number
Electrical	10%	Brudvik, Inc	600 S Eugene Rd, Palm Springs, CA 92264	482623	PW-LR- 1000009363
Boring	0.5%	California Boring	P.O. Box 3036 Beaumont, CA 92223	926968	1000004237
Concrete Footings	3%	Ethics Landscape Construction	2919 Winifred Street, Riverside, CA 92503	1097765	PW-LR- 1001016880

Portion of Work to be done by Subcontractor	Percent of Total Base Bid	Name of Subcontractor	Location of Business	CSLB Contractor License No.	DIR Registration Number
(Attach additional	abouts if possess	on ()			

(Attach additional sheets if necessary)

BIDDER INFORMATION AND EXPERIENCE FORM

A. INFORMATION ABOUT BIDDER

(Indicate not applicable ("N/A") where appropriate.)

6.6

Treasurer's Name:

Where Bidder is a joint venture, pages shall be duplicated and information provided NOTE: for all parties to the joint venture. Superb Engineering, Inc. 1.0 Name of Bidder: Type, if Entity: S Corporation. 2.0 2947 West Lincoln Street Unit 105 3.0 Bidder Address: Banning, CA 92220 (909) 269-2333 N/A Facsimile Number Telephone Number estela@superb-engineering.com **Email Address** How many years has Bidder's organization been in business as a Contractor? 1 year and 1 month. 4.0 How many years has Bidder's organization been in business under its present name? 1 year and 1 month. 5.0 5.1 Under what other or former names has Bidder's organization operated? N/A 6.0 If Bidder's organization is a corporation, answer the following: 05/22/2023 6.1 Date of Incorporation: California 6.2 State of Incorporation: Estela Candelario 6.3 President's Name: N/A 6.4 Vice-President's Name(s): N/A 6.5 Secretary's Name:

N/A

7.1	Date of Organization: N/A
7.2	Name and address of all partners (state whether general or limited partnership):
N/A	
If oth princi N/A	ner than a corporation or partnership, describe organization and nar pals:
	type of work does the Bidder normally perform with its own forces? tion, landscaping, and groundcover.
Has E and w	Bidder ever failed to complete any work awarded to it? If so, note when, when
been	n the last five years, has any officer or partner of Bidder's organization evan officer or partner of another organization when it failed to complete act? If so, attach a separate sheet of explanation:
been	an officer or partner of another organization when it failed to complete
been contra No.	an officer or partner of another organization when it failed to complete
No. List T	an officer or partner of another organization when it failed to complete act? If so, attach a separate sheet of explanation:
No. List T Mari	an officer or partner of another organization when it failed to complete act? If so, attach a separate sheet of explanation: rade References:
No. List T Mari	an officer or partner of another organization when it failed to complete act? If so, attach a separate sheet of explanation: rade References: a Ojeda & Associates - (562) 619-6193

[REMAINDER OF THIS PAGE INTENTIONALLY LEFT BLANK]

B. LIST OF CURRENT PROJECTS (BACKLOG)

[**Duplicate Page if needed for listing additional current projects.**]

Project	Client Reference (agency name/contact info)	Description of Bidder's Work	Completion Date	Cost of Bidder's Work
Arroyo Crossing Apartments	Pacific West Builders Mike Ashley (559) 246-0403	Irrigation, soil amendments, fine grading, planting, mulch, edging, aggregates and maintenance.	08/2024	\$423,170.40
Landscaping - 48th Ave. IDD	Pacific West Builders Mike Ashley (559) 246-0403	Irrigation, landscaping and decomposed granite.	07/2024	\$65,150.00
River's Edge Golf Course	City of Needles Kathy Raasch (760) 326-5700 Ext. 126	Installation of new irrigation service lines, permanent sprinkler heads, and timed sprinkler valves.	08/2024	\$711,487.45
Landscape Improvements	Hemet Unified School District Jose Loza (951) 765-5100	Demolition , irrigation, and landscaping.	08/2024	\$175,090.00
Vitalia Apartments	Pacific West Builders Mike Ashley (559) 246-0403	Irrigation, soil amendments, fine grading, planting, mulch, edging, aggregates and maintenance.	02/2025	\$1,062,105.00
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A

C. LIST OF COMPLETED PROJECTS - LAST THREE YEARS

[**Duplicate Page if needed for listing additional completed projects.**]

Please include only those projects which are similar enough to demonstrate Bidder's ability to perform the required Work.

Project	Client Reference (agency name/contact info)	Description of Bidder's Work	Completion Date	Cost of Bidder's Work
Las Lunas & Calle Bouganvillea Retention Basin Landscape Improvements	City of Coachella Alberto Guttierrez (760) 501-8107	Irrigation, landscaping, and rock groundcover.	10/2023	\$177,039.00
Reclaimed Water System Install at PES, RHES, GMS & SAEC	Temecula Valley Unified School District Greg Page (951) 506-7929	Covert potable water system to recycled.	08/2023	\$585,363.95
Landscape Rehabilitation CDBG Project	City of Perris David Morones (951) 442-2552	Demolition, irrigation, landscaping, and rock groundcover.	03/2024	\$204,047.87
City of Maywood Beautification	City of Maywood Rudolph Rodriguez (909) 595-8599	Tree planting, landscape planting, and irrigation.	05/2024	\$945,328.25
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A
N/A	N/A	N/A	N/A	N/A

D. EXPERIENCE AND TECHNICAL QUALIFICATIONS QUESTIONNAIRE

Personnel:

The Bidder shall identify the key personnel to be assigned to this project in a management, construction supervision or engineering capacity.

1. List each person's job title, name and percent of time to be allocated to this project: Estela Candelario - President: 30%

Raul Ponce - Superintendent: 50%

Daniel Candelario - Project Engineer: 30%

Jesus Hernandez - Foreman: 100%

2. Summarize each person's specialized education:

Estela Candelario: B.S. degree in Construction Management

Daniel Candelario - Associates Degree in Business Administration

3. List each person's years of construction experience relevant to the project:
Estela Candelario: 10 years in the construction business.

Raul Ponce: 29 years in the construction business.

Daniel Candelario - 4 years in the construction business.

Jesus Hernandez - 10 years in the construction business.

4. Summarize such experience:

Highly experienced and dedicated team with a proven track record of sucessfully

overseeing public works projects throughout their careers possessing extensive

knowledge of construction processes.

Bidder agrees that personnel named in this Bid will remain on this Project until completion of all relevant Work, unless substituted by personnel of equivalent experience and qualifications approved in advance by the City.

E. ADDITIONAL BIDDER'S STATEMENTS:

If the Bidder feels that there is additional information which has not been included in the questionnaire above, and which would contribute to the qualification review, it may add that information in a statement here or on an attached sheet, appropriately marked:
N/A